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Explain the controililo'op solution formobile robgt.

Explain KWIC *ith implicit invocation scheme.

Define the followiag with an example

(i) Set point... (ii) Corrtrolled variable 
-

(ili; f.eai,*ontrolsystem (iv)-'."Feedforwardcontrol,S"Ystem.

What is'iVailability? Explain the'fHferal scenario for avail ility.

Explain Business Qualities.
Explain Usability Tactics,,.,,.,l'1

What are the CRC's of a blackboard pattern?

Explain the scenarios of pipes and fillerspattem'
Explain any six implementation steps of layer pattem'

Software ArchltdG
l;". 1

dGture

' P6nr-n "";"',,

a. Explain the benefits and liabiliti'qo fbroker pattem''I, ''
b. Explain the dynamic scenarios bfMVC pattern' ""r'

c. Explaiil'any 5 implementltio teps ofPAC pattem'

..': " . .,-{, ,,,,'Lui;" 
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a. , ;What are the known.ules of reflection pattern?

b-., $/hat are the steps involved in implementing'microkernel pattem.

c. Explain Reflection puii"* with its content, problem and solution.

a. List and explain the steps to imllery.gnt a whole-part structure.

b. What are the,benefits and liability ci'f proxy structure?

c. Explain the sieps to implem€pt Master Slave structure'

a. Explain the steps involved designing an architecture using ADD.

b. nxplain the parts of a document view'


